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Please make sure that the printed pages in this question paper of Part-II are 16 in
number and it contains 44 (16-+ 14 + 14) questions.
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Before answering the questions, ensure that you have been supplied the correct and
complete question-paper, no claim in this regard, will be entertained after
examination.
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(iii) GH FIT BT BT &1 JAF J97 1 G F &1 @& TGV A Fav-GhRawr 7 kg

General Instructions :

(i)  This question paper is divided into three Parts :

Part - A : Not for Profit Organizations & Partnership Accounts.

Part - B: Company Accounts & Analysis of Financial Statements.

Part - C : Computerized Accounting.

(i) Part — A is compulsory. Candidates have to attempt _any one part from
Part - B and Part - C of their choice.

(i) All questions are to be attempted. Each question carries 1 mark. Write the
correct answer in your answer-book.

T - A
PART - A
(TRt HeATE Ud e )
(Not for Profit Organizations & Partnership Accounts)
1. 9 9 &G Gl a0 & ¢ N ’
(A) TR o 4T g\\ (B)
(©) g S (D) it @
»
Income and Expenditure Account reveals :
(A) Surplus § Deficiency (B) Cash in Hand
(C) Net Profit (D) Capital Account
2. HERN d0@ & A9E ¥ T | & & K 1
(A) 5% Sy (B) 6% wfqay
(C) 12% dferas (D) el ST H1 q@e™ el
In the absence of Partnership deed, the interest is allowed on Partner's Capital :
(A) @ 5% p. a. B) @ 6% p. a.
(C) @ 12% p. a. (D) No interest is allowed
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3. HEREN 999 9
A) IfvEd ? (B) fuafea & arfvard B
(C) e & B (D) 378 § Hig 7

Forming a Partnership deed is :

(A) Mandatory (B)
(C) Not Mandatory (D) None of the above

. ot @mt X e iy fpar s
(A) wH-g @ |

(B) «mH-B FESH @rd |

(C) ®ERER T @ #

(D) T & P& el

Interest on Partner's Capitals will be debited to.:

(A) Profit and Loss Account

(B) Profit and Loss Approgiation Account

(C) Partners Capital &@Jnt
(D) None of the ab%é%

5608/(Set : A)

Mandatory in writing
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a'amTaﬁfaﬁ

(A) T ‘er ——-qﬁﬁ CK qﬁﬁ o
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(B) i@ ‘o =, wiftq ‘&’ J; , &N ‘|’ 3
30 30° 30

(C) &I ‘a7 ——-qﬁa F — qﬁa q =
30

(D) Wi a'—— g & —, & | 1
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'A', 'B' and 'C' sharing profit and loss in the ratio of 3 : 2 : 1. The partners
decide to share future profit and loss in the ratio of 2 : 2 : 1. Each Partner's
gain or sacrifice due to change in ratio will be :

(A) Sacrifice 'A' i, Gain 'B' i, Gain 'C' 1
30 30 30
(B) Gain 'A' —, Gain 'B' —, Sacrifice 'C' %
(C) Sacrifice 'A' —, Gain 'B' —, Gain 'C'—
(D) Gain 'A' —, Gain 'B' —, Sacrifice 'C' %
6. T e TR & T=RT & ? 1
(A) T TH HANH TR © (B) AR U =g &I 2
(C) Tfy % = aedred (D) = T ST EHhT 8
Goodwill is what type of assets ?
L AN o
(A) Goodwill is a ﬁctr% s assets (B) Goodwill is a current assets
&
(C) Goodwill is %@sting assets (D) Goodwill is an intangible assets
N
7. @ g O 1
(A) AT ST, — Gl ST (B) YT ST — AT STIUI

(C) YU STUI-— T I SFIur (D) 9 W I — YT YU
Sacrificing ratio :
(A) New Ratio — Old Ratio (B) Old Ratio — New Ratio

(C) Old Ratio — Gaining Ratio (D) Gaining Ratio — Old Ratio
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8. 3 T WHER TG THE H ACM 8, A a8 YU AEER H A e 1
(A)  EF-ST § (B) U« fasrs ofgura |
(C) T @ fawer ergua (D) Toi orgaw &

If the new partner brings his share of goodwill in cash, it will be shared by old
partners in :

(A) Ratio of sacrifice (B) Old profit sharing ratio
(C) New profit sharing ratio (D) In capital ratio
9. I WEER H WEE{ § yaqr Rar o R 1

(A) TH HEEN & GEHid 8
(B) wgHd WK il Feuld d
(C) |l QN |EERI &l Hedld &
(D) 2/3 QA @EER & deuid |
A new partner may beé@ﬁted into a partnership :
&
(A) with the co of any one partner
Q
(B) with the @sent of majority of partners

(C) with the consent of all old partners

(D) with the consent of 2/3rd of old partners

10. GERR SV ‘@ @ 1 2 : 1 ¥ ged & @ H 1/3 90 & o0 w@er f@m T4 a

freTsT STUre #r &FT ? 1
A) 2:1:1 B) 3:1:2
) 4:2:3 D) 2:1:3
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'A' and 'B' sharing profit in 2 : 1. They admit 'C' as a partner for 1/3 share. The
new ratio will be :

(A) 2:1:1 B) 3:1:2
(C) 4:2:3 D) 2:1:3
11. JTHedish @ ¢ 1
(A) R (B) @R @
(C) AR e (D) @RI @

Revaluation Account is a :

(A) Real Account (B) Personal Account
(C) Nominal Account (D) Asset Account
12. HEER & ¥a-FgT & 9 ST B TS G J Bise 6T S @ 1
(A) SR FEI B A @ (B) o9 gT WEER &
, S ,
(C) |ft TERER &g\\ (D) T @ Fig T
On retirement of @(%rtner, goodwill will be credited to the Capital Account of :
(A) Retiring Partners (B) Remaining Partners
(C) All Partners (D) None of the above
13. ‘a7, ‘¥’ 9 ‘@ HEER A9 B HA: %:%:% ¥ dfed 81 WRRR ‘T & FAIH T H
QX 1 A e Srgar e 1
A 2:4 B) 1:2
1.1
C) 2:1 D) —:—=
(©) D)
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(7) 5608/(Set : A)

'A', 'B' and 'C' are partners sharing profits in the ratio of % : % : % New ratio on
the retirement of 'B' will be :
(A) 2:4 B) 1:2
1 1
C) 2:1 D) —:—
(©) o >
14. HERR & GBI TE01 & q9I G @9 9 BN & «@l 6d TR &R 7 1

(A) T WEERI & QI g H hise

(B) WERRI & Tt @ § 3fye, W o §

(C) ¥ 5T BRRI & Gt @) & U orgua § Bfee
(D) 9 3L GEERI & WA oFud & Gt @ 7 #iee

What treatment is made of accumulated profits and losses on the retirement of
a partner ?

(A) Credited to all partners capital account.in old ratio
(B) Debited to all partners capital account in old ratio
(C) Credited to remai&%@ partners capital account in new ratio

(D) Credited to reg@%ing partners capital account in gaining ratio
QN

15. ‘a’eﬂw‘a’@%ﬂaﬁmﬂzzzswﬁfmﬁ% @ B 1/5 9 T AERR

§ yaq e, S T o | SO Y REA T T S e Sy S i 1
(A) 1:3:3 B) 3:1:1
) 2:2:1 D) 1:3:1

'A' and 'B' are partners sharing profits & losses in the ratio of 2 : 3. 'C' is
admitted for 1/5 share which he gets its wholly from 'A'. The new profit

sharing ratio after C's admission will be :

(A) 1:3:3 B) 3:1:1
< 2:2:1 D) 1:3:1
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16. 'X' AR 'Y HERR @ # 3 : 2 & dicd 91 'Z' H GEEN A @T W AN A S

FHIT IR AT A AT ST 9: 7 : 45 1
(A) 3:1 (B) 3:2
€) 1:3 D) 9:7

'X' and 'Y' are partners sharing profits in the ratio of 3 : 2. 'Z' is admitted as a
partner. Calculate sacrificing ratio if new profit sharing ratiois9:7 : 4 :

(A) 3:1 B) 3:2
€ 1:3 D) 9:7
T -9
PART - B
(O @ T foiE e @ i)
(Company Accounts & Analysis of Financial Statements)
17. FOH § & & & B @ 1
(A) i (B) . ST
(C) wmi (D) Tt
The liability of members Company is :
(A) Limited &QK\ (B) Unlimited
(C) Stable Q (D) Fluctuating
N
18. F & W@E P BIA.E 7 1
(A) TR (B) € Hed
(C) Gar Sl (D) FOTG=E
Who are the real owners of a Company ?
(A) Government (B) Board of Directors
(C) Equity shareholders (D) Debentureholders
19. JAAE FH | T W FQ © ¢ 1
(A) =S (B) FHHIIN
(C) <™ (D) SIS
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20.

21.

22.

23.
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Shareholders receive from the Company :
(A) Interest (B) Commission
(C) Profit (D) Dividend
dfert ot fore O & AT B 7 1
(A) T @ T G (B) WM & T ol &
(C) USRI &= &1 (D) g T S
Reserve Capital is a part of :
(A) Called up Capital (B) Paid up Capital
(C) Capital Reserve (D) Uncalled Capital
S B B YEAT B o, HEAT S & - 1
(A) S (B) B
(C) M (D) - QETaIers
Persons who start a company are called :
(A) Shareholders (B) Directors
(C) Promoters SQ\§® (D) Auditors

>
WF%W,%’B?W@%WWﬁHWW%: 1
A) 6% W@$Q (B) 10% S
(C) 5% wfqad (D) 12% dfeas
Interest on Calls in arrears is charged according to Table F at :
(A) 6% p. a. B) 10% p. a.
(C) 5% p. a. (D) 12% p. a.
AR it o Hie A A 1
(A) SArget # S S @ (B) SASTGST & TeR S 3
(C) =T T ¥ i S R (D) |HAT T A 9o H A e ©
P.T.O.
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(10) 5608/(Set : A)

Amount of Calls in Advance is :
(A) Added to Share Capital
(B) Deducted from Share Capital
(C) Shown on the Assets side
(D) Shown on the Equity & Liabilities side
24. I FF dvs TR BT A E 1
(A) LI &N X
(B) T ¥ FegiRg W W
() fomm feiRg W
ES LI
Zero Coupon Bonds are issued :
(A) at zero interest rate ®
(B) with specified r%@of interest
(C) without Sp@%ed rate of interest

\)
(D) None of t?ese

25. FHE B THIT G TOGH B R A9 B A ® 1
(A) T TEd (B) @& w1& H
(C) 9 AR § T&d (D) HAT AR & T

On liquidation of company, principal amount of debentures is returned :
(A) First of all (B) Last of all
(C) Before Equity Capital (D) After Equity Capital
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(11)
26. FOGEEN E ¢
(A) HE & HTD
(C) FHHAT & IR

Debenture holders are :

(B)
(D)

(A)
(C)

Owners of the Company

Creditors of the Company

............

(A)
(C)

Secured (B)

Partly Secured (D)

(D) sﬂﬁ@ﬁ%%mfﬁ

Debentures of-a Company can be issued :

(A) For Cash

(B) For consideration other than cash

(C) As a collateral security

(D) Any of the above

5608/(Set : A)/ I
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F B A6
FT B THIEY

Customers of the Company

Promoters of the Company

Unsecured

Half Secured
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(12) 5608/(Set : A)

29. 3T FOTEN Pl IGE HIT W L A9 Pl SEAT [Hal A & 1
(A) MM G99 | (B) ww-gI foaver &
(C) Uoirm &= # (D) OO @
Profit on cancellation of own debentures is transferred to :
(A) General Reserve (B) Statement of Profit and Loss
(C) Capital Reserve (D) Debentures Account
30. 1 RO & NEF & S& FOGH MAT GHA H SR 69 @A H A S e 7
(A) TN g En | (B) 9MM &=9 & {
(C) THfeT ®og @ # (D) @™ J & fageer §

Where is 'Debenture Redemption Reserve' transferred after the redemption of
all debentures ?

(A) Capital Reserve Account (B) General Reserve Account
(C) Sinking Fund Account (D) ~Statement of Profit and Loss
T -9
§® PART -C
g\\ (Tl Jai)
\Q(b&‘(:omputerized Accounting)
17. QI ....... @$&.\.%ma¢mﬁaﬂmﬁm i
(A) T FHTA (B) ST
(C) @M # (D) ™ & &f
A software must be easy to ............. .
(A) Install (B) Adapt
(C) Understand (D) All of the above
18. WX HS WG & 1 @9 & 7 1
(A) TI-IW e} ¥ (B) %9 AN & &
(C) TeT % I= YOI © (D) 9 ¥ B T
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(13) 5608/(Set : A)
What is the advantage of Tailor made Software ?
(A) These are ready-made software  (B) Low cost

(C) High secrecy of data (D) None of the above

19. HGElFd dEied B v ¥ ? 1
(A) T B €WK BT
(B) el RO TR w0
(C) T @il & &
(D) Suer @l
What are the features of Computerized Accounting System ?
(A) Storage of accounting data
(B) Instantly produces different reports
(C) Group of different accounts

(D) All of the above
O

20.WW#@@%ﬁ%WWGﬂTWMMWWG%? 1
() T $@% (B)  Tgge
(C) weier B feee (D) (A) &R (B) &
What are the factors to be considered while using accounting software ?
(A) Flexibility (B) Adaptability
(C) Interest of Management (D) Both (A) and (B)
21. 3[R ’
(A) gE (B) T F T
(C) (A) ST (B) A (D) ¥ & P& T
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(14)

Data is :

(A) Information (B)

(C) Both (A) and (B) (D)
22. ERAT Tl B WA

(A) =g (B)

(€ (&) 3R (B) A (D)

The result of processed information is :

(A) Input (B)

(C) Both (A) and (B) (D)
23. T T & @AW T -

(A) SQL fafy (B)

(C) RST fafy (D)

The method to prepare a query is :

5608/(Set

Collection of facts

None of these

3cge
T | B T

Output

None of these

JUL iy
DBH fafyr

JHL method

DBH method

IPMT

(A) SOL method g\\Q (B)
NS
(C) RST method, & (D)
N
24. ﬁﬁ@ﬁ?—ﬁ@ﬂﬂﬂ%&ﬁﬁ@ﬁmﬁmm%mmw%?
(A) PPMT (B)
(C) FAPM (D)

T | B T

: A)

Which function will be used for calculating interest included in instalment of a

loan ?
(A) PPMT (B)
(C) FAPM (D)

5608/(Set : A)/ Il
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25.

26.

27.

28.

(15) 5608/(Set : A)

Al, A2, A3 B & a°g &I STHI XA B YA A8 7 1
(A) Sum = (Al+ A2 + A3) (B) Sum (A1, A2, A3)

(C) =Sum (Al: A3) (D) & 9 %5 -l

What is the formula for adding the value of cell A1, A2, A3?

(A) Sum = (Al + A2 + A3) (B) Sum (A1, A2, A3)

(C) =Sum (Al : A3) (D) None of these

Brg i & T -1 e e St 8 7 1
(A) SLN (B) PRF

(C) DUD (D) LTF

Which function is used to calculate depreciation ?

(A) SLN (B) PRF
(C) DUD (D) - LTE

HIF-G1 G TaT & 7 1
(A) =(10+ 15) \\Q@ (B) = (B7 * Bl)

(C) (B7 + 14) 5 (D) 14 + 15

Which formula i 1s rrect ?

(A) = (10 + ]@&Q (B) = (B7 * Bl)

(C) (B7 + 14) (D) 14+ 15

BI-91 e T 6@ d oTRadl §a & AT Hi STerT o & ? 1
(A) (B) @Hi-i

(C) formm (D) i

Which symbol separates the cell addresses of the first cell and the last cell in
the given range ?

(A) Comma (B) Semi-colon
(C) Period (D) Colon
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(16) 5608/(Set : A)
29. 3q <M & WA | G B AN HA Fpar S Fha ©

(A) & 99 g (B) T g
(C) R 3w (D) |fE e fheex &
Formula can also be copied using this option :
(A) AutoSum (B) Fil
(C) Clear (D) Sort and Filter
30. T § FH-G1 & = P aEdiah & 8 ?
(A) = (B) e
(€) PremEw (D) et
This area is the actual area of the chart :
(A) Chart (B) Plot
(C) Gridlines (D) ¢ Legend
&
S
S
$
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